JLTINATE

S U P P O R T

Instructions for
Assembling Core Legs

Included Parts with the Core Leg Assembly - BOX 2

Core Leg Top Mounting Plate X2

/@ : Core Aluminum Leg Column X2

Mast Coupler X2

Core Aluminum Leg Base X2

Leg Leveler X4

M4 Hex Wrench X1
M5 Hex Wrench X1
M6 X 1 Socket Head Cap Screw X 8
e
@\\x&\\\\\\\&@ M6 X 1 Flat Head Screw X8

@ 1/4-20 x 5/8" Pan Head Screw X24

Please check to see you have all parts before 970.776.1920 . www.ultimatesupport.com
starting. Once all parts are confirmed begin assembly. Copyright 2017, Ultimate Support Systems . All Rights Reserved



JLTINATE

S U P P O R T

0

Place core leg top mounting
plate on aluminum leg base,
lining up the holes. Use the
four flat head screws provided
to attach plate to leg base. Use
M6 X 1 Flat M4 hex wrench to tighten flat
Head Screw

head screws.

\ Core Leg Top

Mounting Plate

(

On the opposite end of the
aluminum leg base, slide on
mast coupler.

On the bottom end with the
mast coupler, attach core
aluminum leg base using four
socket head cap screws.
Screws will go through the
aluminum leg base, mast
coupler and into the core
aluminum leg base. Use M5
hex wrench to tighten socket
head cap screws.

Core Aluminum
Leg Column

\

Mast Core
Coupler Aluminum

Leg Base
Screw the two leg levelers into
the core aluminum leg base.

Duplicate these instructions for
the other leg.

4 B <
K
R
>

The additional 24 pan head
screws (1/4 - 20 x 5/8") are
used for attaching core legs to
core table. Set aside and save
for later.

M6 X 1 Socket
Leg Leveler Head Cap Screw




